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X 2.6 cm3

O 262 2-coes
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0.05cms

2.31
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2.320
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Case A

Case B

26 261 262 263 264 265 266 267 268 269 2.7
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0.1cm3 -
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2.63 cm?3
0.05cm? -

® O ® ® Ox ® O Ox

2.32, 2.325, 2.32; cm3
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gy

' 16.25 mm or 16:55 mMm




10% 100
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0.5230 g
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0.5230 = 0.0001 g 0.02%
0.5230+ 0.0002 g 0.04%

0.5230 + 0.00014 g 0.027%
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Na,CO, (105

HCI

NaOH
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n =40

4.2 WiV

4.31 wiv%
0.05 w/v%

1.16%

3%
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NaOH

NaOH

0.7%

6%
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=+ 0.02cms3

JIS R3505

10.00 cm3

24



26

10 cm?

cm?s

0.0044 cm3
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96 w/w%, 1.06 g cm3
0.50 mol dm™3 100 cms

X cms3

1.06 xx 0.96 / 60 = (0.5/1000) x 100

g cm=cm® mol g = mol cm=3 cm?3

X=2.498 cm3
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(= 0.5 cm?3)

(= 0.1 cm?3)
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{(0.03/2.50)2 + (0.1/100)%}2 = Ar /0.50
C = 0.50+ 0.006 mol dm3

2
{(0.2/2.50)2 + (0.5/100)2}¥/2 = Ar /0.50

C =0.50+ 0.04 mol dm-
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0.50 M

(x 0.5 cm?) (£ 0.1 cm?3)

+ 0.04 M + 0.04 M
(£ 0.2 cm?d)

+ 0.007 M + 0.006 M

(+ 0.03 cm?d)
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100 19
0.1 mol dm-3 100 cms3

( 0.5 cm?d) (= 0.1 cm?d)

+1.1x 10°M | + 1.0x 10 M
(x 0. 019g)

+ 50%x 10*M | + 1.0x 104 M
(* 0.1 mg) (0.5%) (0.1%)
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A T
A= log (T/100) = log(l/l)

1% - A=|[2
2% - A=[1.7
16% - A =0.8
32% - A =[0.5
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12 AD
10 V/(212) = 2.4 mV

16 DA
~ 10 V/(216) = 0.15 mV
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ANOVA
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X

u

(ppm) (ppm)
5.34 0.31
4.82 0.28

F = u,2/u,2 = 0.312/0.282 = 1.23

1.23 6.23

6.23
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t=— -2 =304 223
Uy 1,

(nl —1)U12 T (nz —1)U22 — 0.292
\ n+n,—2
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ANOVA
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